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34,
_ for landing at an airport where the length of the run-

35,

Glide Path A pilot has just started on the glide path

way is 9000 feet. The angles of depression from the

plane to the ends of the runway are 17.5° and 18.8°.

(a) Draw a diagram to represent the problem.

(b) Find the air distance the plane must travel until
touching down on the near end of the runway.

(c) Find the ground distance the plane must travel
until touching down.

(d) Find the altitude of the plane when the pilot
begins the descent.

Locating a Fire Two fire towers A and B are 30

kilometers apart. The bearing from A to B is N 65° E.

A fire is spotted by a ranger in each tower, and its

bearings from A and B are N 28° E and N 16.5° W,

respectively. Find the distance of the fire from each

tower.
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Height Afl

agpole is located on a slope that makes

an angle of 14° with the horizontal. The pole casts a

16-meter sha
elevation of tl

dow up the slope when the angle of
he sun is 20°.

(a) Draw a triangle that represents the problem.

(b) Write an
tity.

equation involving the unknown quan-

(c) Find the height of the flagpole.

Height You are standing 40 meters from the base

of a tree that

is leaning 8° from vertical away from

you. The ang]

e of elevation from your feet to the top

of the tree is 20°50".
(a) Draw a triangle that represents the problem.

(b) Write an
height of

equation involving the unknown slant
the tree.

(c) Find the slant height of the tree.
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36. Distance A boat is sailing due east parallel to the
shoreline at a speed of 10 miles per hour. At a given
time the bearing to the lighthouse is S 70° E, and 15
minutes later the bearing is S 63° E. Find the distance_
from the boat to the shoreline if the lighthouse is at
the shoreline.
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31. Flight Path A plane flies 500 kilometers with a
bearing of N 44° W from B to C. The plane then flies
southwest 840 kilometers from C to A. Find the bear-

ing of the flight from C to A.
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32. Bridge Design A bridge is to be built across a
small lake from B to C. The bearing from B to C is
S 41° W. From a point A, 100 meters from B, the
bearings to B and C are S 74° E and S 28° E, respec-
tively. Find the distance from B to C.





